54000-IN
Works

International 52.5" & 68.5" Fuel Tank Fairings

Part Numbers: 54000-54039

Before beginning the installation of your new RoadWorks® fuel tank fairings please verify that the tank
fairings you have purchased match the length of your truck's tanks. If the length of your truck's tanks do
not match the description on the box label, call RoadWorks® Manufacturing, Inc. at 1-800-448-8741.

PLEASE READ THE DIRECTIONS COMPLETELY BEFORE BEGINNING.

Installation
1. Arrange the tank fairings and brackets on a flat surface. Peel the PVC from all of the brackets.

2. Individually install the -03 bracket by removing the nut that secures the top of the tank strap. Slide
the tank strap though the opening in the -03 bracket (see Diagram #3 on reverse side) and reinstall
tank strap. Do not fully tighten this nut. Be sure to support the tank from below while installing these
brackets. Install only one bracket at a time. It will be helpful to have a minimal amount of fuel in the
tanks during the installation.

3. [Install each of the -02 brackets using two 5/16" hex bolts, flat washers, and lock washers, leaving
these bolts loose (see Diagram #2 on reverse side).

4. Install the tank fairing using 4" carriage bolts, flat washers, lock washers, and hex nuts, leaving these
bolts very loose (see Diagram #2 on reverse side).

5. Hold the tank fairing firmly against the fuel tank and fully tighten the 5/16" hex bolts on the right side
of each bracket as you face the tank. Then, fully tighten the 5/16" hex bolts on the left side of each
bracket.

6. While continuing to firmly hold the tank fairing against the tank, fully tighten the nuts that secure the
tank fairing to the bracket from step #4.

7. Fully tighten the tank straps.
8. Peel the PVC from the fuel tank fairings.

9. This completes the installation of your Road Works® fuel tank fairings.



HIHSYM HIHSYM 1NN
1V ub/b MOOT ./l X3H
HIHSYM HIHSYM 1709 IDVINEVO
V144948 %001.9L/S Wil
1709 X3H
JHVMAAVH WIL/S
S# WVHOVIQ §§§§@

’ S/
c# WvdovIg | £0°000%S

¢0-000¥S  €0-000vS

Y. 70-
vm:@ 20-000+S

C# NVHOVIA

MNVL 13N4d

v# NVHOVIA

SIS

Z0-000%S ‘
L# NVHOVIA

€0-000¥G

sBulied yuej |an4 ,5'89 % .G'2S [BUONEBUIB|




